Maytag DE406 03 - CONTROL PANEL & COMPONENTS

(MODEL DE-DG406 CONTROL PANEL & COMPONENTS)

243323 ;
*3.2834 34127 s
25199 / +3.4125 34128 34585 32454 313562 213323
\ e | f /

"\ _‘ 25198

l - 2-11410
211410

St " / { . 211294
211294 - - .

J& - - e P

4-10351
312257

m<

210745

W

2-11737

e=
312140

312257

L ma

2912220 25415 212220
4 G‘
)
3-3088

Maytag Residential Maytag DE406 Dryer Parts Parts Diagram 03 - CONTROL PANEL & COMPONENTS
Click on the part number to view part

Original Part Number Replaced By Part Description
1 205198 Not Available BRACKET KIT - LEFT HAND
2 205199 Not Available BRACKET KIT - RIGHT HAND
3 205415 279347 Switch-Lid
4 210745 Wire Terminal
5 211065 Spring, Index Wheel
6 211252 Screw, Ground Wire

Screw, 8A X 3/8 HeX Washer

7 211294 20767 Head Tapping

8 211410 Screw, HeX Head No.8 X 3/8
Inch

9 211605 Bezel, Timer Dial

10 211737 248562 Terminal

11 212220 213501 Screw, No.6-20 X 1-1/8 Inch

12 213077 Not Available CAP FOR TIMER KNOB

13 213099 Lens For Control Panel

14 213323 Fastener, Exhaust Duct Kit

15 Y302454 33302454 Timer


http://www.pwslaundry.com/c-506041-residential-maytag-de406-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10415045-maytag-279347-washer-dryer-switch-lid.html
http://www.pwslaundry.com/i-10409618-maytag-210745-washer-dryer-wire-terminal.html
http://www.pwslaundry.com/i-10412753-maytag-211065-washer-dryer-spring-index-wheel.html
http://www.pwslaundry.com/i-10412658-maytag-211252-washer-dryer-screw-ground-wire.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10407833-maytag-211410-washer-dryer-screw-hex-head-no-8-x-3-8-inch.html
http://www.pwslaundry.com/i-10414054-maytag-211605-washer-dryer-bezel-timer-dial.html
http://www.pwslaundry.com/i-10415038-maytag-248562-washer-dryer-terminal.html
http://www.pwslaundry.com/i-10409599-maytag-213501-washer-dryer-screw-no-6-20-x-1-1-8-inch.html
http://www.pwslaundry.com/i-10409615-maytag-213099-washer-dryer-lens-for-control-panel.html
http://www.pwslaundry.com/i-10409614-maytag-213323-washer-dryer-fastener-exhaust-duct-kit.html
http://www.pwslaundry.com/i-10415218-maytag-33302454-dryer-timer.html

16
17
19

20

21

22

23

24

25

26

27
28
29
30
31
32
33
34
35

302469
302501
Y302829

302934

303088

Y304106

304125

304127
304128
Y304585

Y310376
Y312140
312257
312258
312261
Y312270
312303
313562
410351

WB2X9652

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available

HARNESS FOR SHROUD
HARNESS
Timer Dial And Knob

CONTROL PANEL WITH
LENS

GAS VALVE WIRES WITH
PLUG

TIMER DIAL & KNOB, SUN-
GLOW

CONTROL PANEL, SUN-
GLOW

CONTROL PANEL KIT, SEA-
MIST

Insulation

Timer Motor RPR For 305214
Timer Only

Clip, Door Switch Harness
Wire Connector
BRACKET

Actuator

WASHER

Clip, Spring Retainer
Spring

BACK-UP PLATE
HARNESS RETAINER


http://www.pwslaundry.com/i-10410103-maytag-y302829-dryer-timer-dial-and-knob.html
http://www.pwslaundry.com/i-10415812-maytag-wb2x9652-dryer-insulation.html
http://www.pwslaundry.com/i-10412625-maytag-y304585-dryer-timer-motor-rpr-for-305214-timer-only.html
http://www.pwslaundry.com/i-10412839-maytag-y310376-washer-dryer-clip-door-switch-harness.html
http://www.pwslaundry.com/i-10409613-maytag-y312140-washer-dryer-wire-connector.html
http://www.pwslaundry.com/i-10410105-maytag-312258-dryer-actuator.html
http://www.pwslaundry.com/i-10412691-maytag-y312270-washer-dryer-clip-spring-retainer.html
http://www.pwslaundry.com/i-10410106-maytag-312303-dryer-spring.html

	Maytag DE406 03 - CONTROL PANEL & COMPONENTS

